

ORIGINAL ARTICLE

Clinical Benefits of Albumin Supplementation in Hypoalbuminemic Patients after Major Abdominal Surgery: A Retrospective Analysis

Aditya Agarwal¹, M.L. Dawan², Dharmveer Jajra³
Chetan Nivar⁴, Udesch Rajpurohit⁵, Shaheen Akbar⁶

HOW TO CITE THIS ARTICLE:

Aditya Agarwal, M.L. Dawan, et al. Clinical Benefits of Albumin Supplementation in Hypoalbuminemic Patients After Major Abdominal Surgery: A Retrospective Analysis. New Indian J Surg. 2025; 16(2): 47-51.

ABSTRACT

Background: Hypoalbuminemia is prevalent in patients undergoing major abdominal surgeries and is associated with adverse postoperative outcomes, including prolonged hospital stays, higher infection rates, and increased mortality. The clinical impact of albumin supplementation in these patients remains under scrutiny.

Objective: This study evaluates whether albumin supplementation in hypoalbuminemic patients (≤ 3.0 g/dL) improves postoperative outcomes.

Methods: This retrospective study included patients who underwent major abdominal surgery between January 2021 and December 2024 at a tertiary care hospital. Patients with hypoalbuminemia were divided into two cohorts of 250 each: those who received postoperative albumin supplementation and those who did not. Outcomes measured included length of hospital stay (LOS), infection rates, ICU admission rates, and 30-day mortality.

AUTHOR'S AFFILIATION:

¹ IIIrd Year Resident, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

² Senior Professor and Head of Department, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

³ Associate Professor, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

⁴ IIIrd Year Resident, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

⁵ Junior Resident, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

⁶ Junior Resident, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

CORRESPONDING AUTHOR:

M.L. Dawan, Senior Professor and Head of Department, Department of Surgery, Sardar Patel Medical College & A.G. Hospital, Bikaner, Rajasthan 334001, India.

E-mail: drmanohar_dawan1234@yahoo.com

➤ **Received:** 07-02-2025 ➤ **Accepted:** 26-05-2025



Creative Commons Non Commercial CC BY-NC: This article is distributed under the terms of the Creative Commons Attribution NonCommercial 4.0 License (<http://www.creativecommons.org/licenses/by-nc/4.0/>) which permits non-Commercial use, reproduction and distribution of the work without further permission provided the original work is attributed as specified on the Red Flower Publication and Open Access pages (<https://www.rfppl.co.in>)

Results: The albumin supplementation group had a significantly shorter LOS (8.1 vs. 11.4 days, $p < 0.001$) and lower infection rates (10% vs. 17%, $p = 0.02$). There was no statistically significant difference in ICU admissions or 30-day mortality between the two groups ($p = 0.58$ and $p = 0.19$, respectively). Multivariate regression identified albumin supplementation as an independent predictor of reduced LOS and infection rates.

Conclusion: Albumin supplementation in hypoalbuminemic patients post-major abdominal surgery improves recovery metrics by reducing LOS and infection rates without influencing short-term mortality. Future randomized controlled trials are necessary to validate these findings.

KEYWORDS

• Hypoalbuminemia <3.5 g/dL • Length of hospital stay (LOS) • Post operative albumin levels • Albumin supplementation

INTRODUCTION

Background and Rationale

Hypoalbuminemia, defined as a serum albumin level below 3.5 g/dL, is a common condition among patients undergoing major abdominal surgeries.¹⁻³ Albumin serves as a critical protein in maintaining oncotic pressure, modulating immune responses, and binding essential substances.⁴⁻⁷ Low albumin levels have been consistently associated with adverse clinical outcomes, such as increased susceptibility to infections, poor wound healing, and prolonged recovery.⁸⁻¹²

Major abdominal surgeries including resections for malignancies, gastrointestinal perforations, and organ transplants impose considerable physiological stress on patients. In hypoalbuminemic patients, these stresses are exacerbated, leading to an increased risk of complications.¹³⁻¹⁵

Despite the physiological rationale supporting albumin supplementation, its clinical benefits remain controversial. While some studies report improvements in outcomes, others suggest negligible benefits or potential risks associated with its use. This study aims to provide clarity by evaluating whether albumin supplementation offers tangible benefits in terms of recovery metrics, particularly LOS and postoperative complications.¹⁶⁻¹⁷

Study Objectives

The primary objective of this study was to determine if albumin supplementation in hypoalbuminemic patients undergoing major abdominal surgery reduces postoperative LOS. Secondary objectives included evaluating its

effects on infection rates, ICU admissions, and 30-day mortality.

METHODS

Study Design

This retrospective cohort study was conducted at a tertiary care hospital and included patients who underwent major abdominal surgery between January 2019 and December 2023. Ethical approval was obtained from the institution's ethics committee.

Inclusion and Exclusion Criteria

- **Inclusion Criteria:** Patients aged ≥ 18 years with preoperative serum albumin levels ≤ 3.5 g/dL who underwent major abdominal surgery.
- **Exclusion Criteria:** Patients with chronic liver disease, nephrotic syndrome, or severe burns; those receiving preoperative albumin supplementation; and those who declined or were medically ineligible for albumin administration.

INTERVENTION

The intervention group received albumin supplementation (20% albumin solution, 50 mL/day for five days) starting immediately after surgery. The control group did not receive albumin supplementation but were managed with standard care, including crystalloid and colloid infusions as needed.

Outcomes Measured

- **Primary Outcome:** Hospital LOS (in days).

- **Secondary Outcomes:** Postoperative infection rates, ICU admission rates, and 30-day mortality.

Data Collection

Clinical data, including demographics, surgical details, laboratory values, and outcomes, were collected from electronic medical records. Postoperative complications were classified according to the Clavien-Dindo grading system.

Statistical Analysis

Continuous variables were compared using the Student's *t*-test, and categorical variables were analyzed with the chi-square test. Multivariate regression was performed to identify predictors of LOS and postoperative complications. A *p*-value < 0.05 was considered statistically significant.

RESULTS

Patient Demographics and Baseline Characteristics

A total of 500 hypoalbuminemic patients met the inclusion criteria, with 250 in each cohort. The groups were comparable in terms of age, gender distribution, comorbidities, and surgical complexity:

Patient Demographics

Measure	Details
Median Age (years)	63 (range: 44–78)
Gender Distribution	54% Male, 46% Female
Mean Preoperative Albumin Level (g/dL)	2.6 (SD: 0.3)

• Primary Outcomes

Outcome Measure	Intervention Group	Control Group
Length of Hospital Stay (LOS)	8.1 days (SD: 1.9)	11.4 days (SD: 2.5)

• Secondary Outcomes

Outcome Measure	Intervention Group	Control Group
Infection Rates	10%	17%
ICU Admission Rates	8%	9%
30-Day Mortality	4%	6%

- **Difference: 3.3 days (*p* < 0.001)**

Secondary Outcomes

After adjusting for age, comorbidities, and surgical complexity, albumin supplementation emerged as an independent predictor of reduced LOS and infection rates:

Predictor	Adjusted OR (95% CI)	P-value
Reduced LOS	0.72 (0.60–0.85)	< 0.001
Reduced Infection Rates	0.68 (0.52–0.89)	0.01

DISCUSSION

Principal Findings

This study demonstrates that albumin supplementation in hypoalbuminemic patients undergoing major abdominal surgery is associated with significant improvements in recovery metrics, particularly LOS and infection rates. These findings support the hypothesis that correcting hypoalbuminemia addresses some of the systemic vulnerabilities that predispose patients to adverse outcomes.

Comparison with Existing Literature

The results align with prior studies that have reported similar benefits of albumin supplementation, including reduced LOS and lower infection rates. However, our findings differ from studies that found no effect on mortality, emphasizing the need for cautious interpretation of mortality outcomes in this population.

Physiological Mechanisms

The observed benefits may be attributed to several mechanisms:

1. **Enhanced Oncotic Pressure:** Albumin supplementation restores plasma oncotic pressure, reducing tissue edema and improving microcirculatory perfusion.
2. **Immune Modulation:** Albumin's role in modulating inflammatory responses may contribute to reduced susceptibility to infections.
3. **Drug Binding and Transport:** Albumin's capacity to bind and transport endogenous and exogenous substances, including medications, enhances therapeutic efficacy.

Clinical Implications

Routine albumin supplementation in hypoalbuminemic patients after major abdominal surgery may be a cost-effective strategy to improve recovery and reduce healthcare burdens associated with prolonged hospital stays. However, clinicians should balance these benefits against potential risks, such as fluid overload or allergic reactions.

Limitations

- **Retrospective Design:** As a retrospective study, it is subject to selection bias and unmeasured confounders.
- **Single-Center Study:** Findings may not be generalizable to other settings.
- **Short-Term Outcomes:** The study focused on short-term outcomes, and long-term effects remain unexplored.

Future Research

Future randomized controlled trials are warranted to confirm these findings and to evaluate the long-term impact of albumin supplementation, including its effects on quality of life and functional recovery.

CONCLUSION

Albumin supplementation in hypoalbuminemic patients undergoing major abdominal surgery significantly reduces LOS and infection rates, offering a tangible clinical benefit. However, it does not influence short-term mortality. These findings highlight the potential role of albumin supplementation as an adjunctive therapy in perioperative care.

REFERENCES

1. Vincent J.L., Dubois M.J., Navickis R.J., Wilkes MM. Hypoalbuminemia in acute illness: is there a rationale for intervention? A meta-analysis of albumin administration. *Crit Care Med.* 2003; 31(3): 759-768.
2. Wiedermann C.J., Wiedermann W., Joannidis M. Hypoalbuminemia and albumin therapy in critically ill patients: a meta-analysis of randomized controlled trials. *J Crit Care.* 2010; 25(2): 206-213.
3. Kaysen G.A., Dubin J.A., Muller H.G., Rosales L.M., Levin N.W., Mitch W.E.. Relationships among inflammation, nutrition, and physiologic mechanisms establishing albumin levels in hemodialysis patients. *Kidney Int.* 2002; 61(6): 2240-2249.
4. Quinlan G.J., Martin G.S., Evans T.W. Albumin: biochemical properties and therapeutic potential. *Hepatology.* 2005; 41(6): 1211-1219.
5. Sahota H., Shuster J.. Hypoalbuminemia in the first postoperative week: a systematic review. *J Am Coll Surg.* 2014; 219(2): 356-369.
6. Murai A, Saito M, Yamamoto Y, Ishikawa H, Furuta K. Impact of preoperative hypoalbuminemia on postoperative complications in patients undergoing elective digestive surgery: a retrospective cohort study. *Int J Surg.* 2020; 78: 60-65.
7. Franch-Arcas G. The meaning of hypoalbuminaemia in clinical practice. *Clin Nutr.* 2001; 20(3): 265-269.
8. Rozentryt P, Von Haehling S, Lainscak M, Springer J, Kalantar-Zadeh K, Anker SD. The effects of albumin administration on mortality in critically ill patients. *Curr Opin Clin Nutr Metab Care.* 2009; 12(3): 239-243.
9. Gao T, Han J, Wang Y, Wu C, Yang S, Yu Y. Efficacy and safety of albumin supplementation for hypoalbuminemia in hospitalized patients: a meta-analysis. *Am J Med Sci.* 2015; 349(6): 497-503.
10. Tettamanti G, Garzotto F, Bertolini G. The role of serum albumin in the prognosis of critically ill patients: a systematic review and meta-analysis. *J Crit Care.* 2016; 33: 1-9.
11. Fleck A, Hawker F, Wallace P, Raines G, Trotter J, Ledingham IM, et al. Increased vascular permeability: a major cause of hypoalbuminaemia in disease and injury. *The Lancet.* 1985; 325(8432): 781-4.
12. Fleck A, Colley C, Myers M. Liver export proteins and trauma. *British Medical Bulletin.* 1985; 41(3): 265-73.
13. Soeters PB, Wolfe RR, Shenkin A. Hypoalbuminemia: Pathogenesis and Clinical Significance. *JPEN J Parenter Enteral Nutr.* 2019; 43(2): 181-93.
14. Ryan A.M., Hearty A., Prichard R.S., Cunningham A., Rowley S.P, Reynolds J.V. Association of hypoalbuminemia on the first postoperative day and complications following esophagectomy. *Journal of Gastrointestinal Surgery.* 2007; 11(10): 1355-60.
15. Investigators SS. A comparison of albumin and saline for fluid resuscitation in the intensive care unit. *New England Journal of Medicine.* 2004; 350(22): 2247-56.
16. Eljaiek R., Heylbroeck C., Dubois M-J. Albumin administration for fluid resuscitation in burn patients: A systematic review and meta-

- analysis. *Burns*. 2017; 43(1): 17-24.
17. Hübner, M., Mantziari, S., Demartines, N., Pralong, F., Coti-Bertrand, P., & Schäfer, M. (2016). Postoperative albumin drop is a marker for surgical stress and a predictor for clinical outcome: A pilot study. *Gastroenterology Research and Practice*, 2016, 1-8. <https://doi.org/10.1155/2016/8743187>